a+b | Inequalities with Scientific Notation Name:
]
Which sign makes the sentence true?
2
357 3.5x10
< = >
B
Which sign makes the sentence true?
1
870 7 8.7 x 10
< = >
]

Which sign makes the sentence true?

13.9 ? 1.39 x 107

> < =
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M
Which sign makes the sentence true?
2
608 ? 6.08 x 10
> < =
[+
Which sign makes the sentence true?
6.176.1x 10°
= > <
[+]

Which sign makes the sentence true?

10 ? 0.01 x 10°

> < =
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Which sign makes the sentence true?
2
27.372.73 x 10
< > =
[#s)
Which sign makes the sentence true?
1
3.273.2x10
< > =
]

Which sign makes the sentence true?

2800 ? 2.8 x 103

< = >
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Name:

#10

Which sign makes the sentence true?

25000 ? 2.5 x 103

#11

Which sign makes the sentence true?

18 ? 1.8 x 10*

#12

Which sign makes the sentence true?

2130 ? 0.213 x 10°
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Question Answer
#1 choice 1
#2 choice 3
#3 choice 2
#4 choice 3
#5 choice 3
#6 choice 1
#7 choice 1
#8 choice 1
#9 choice 2
#10 choice 3
#11 choice 1
#12 choice 1
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